Math 1411 – Practice Exam 1
This practice exam is longer than the actual exam. It does give you an idea about the type of questions on the actual exam, but the actual exam could contain questions not asked here. Email me if you have any questions. I will post an answer key on Sunday for your reference.
1. Please state the definitions of the following terms
a) The derivative of a function f(x)

b) The definite integral of f(x) from a to b

c) The area between two functions

d) Volume of a rotational solid, by disks

e) Volume of a rotational solid, by shells

f) Integration by Parts rule for two functions u(x) and v(x)
g) Partial Fraction Decomposition

h) Trigonometric Substitution (give 2 different examples)

i) Improper Integrals
j) Length of a curve f(x) between a and b

k) Arc Length of a curve

l) L’Hospital’s Rule
2. Below are two pictures, indicating sketches of solids of revolution around x-axis. Each contains a red “slice” used to compute the solid’s volume. Match picture to integral by connecting them with a line.
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3. Decide which method to use by drawing lines from an integral to the corresponding method. You do NOT have to actually find the integral.
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	Simple Substitution Rule
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	Integration by Parts once
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	Integration by Parts twice or more
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	Integration by Parts followed by solving for an integral




4. Find the area bounded by the curves 
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5. Find the volume of the solid generated by revolving the plane region bounded by 
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around the y-axis. Use any method you like.

6. Find the volume of the solid generated by revolving the plane region bounded by 
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7. Recall that using the method of Partial Fraction Decomposition can be used to convert a rational function 
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 into a sum of simpler functions, each of which can easily be integrated.

a. Given that 
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, find the value of the constants A and B
b. Given that 
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, compute 
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8. Integrate using any method:
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9. Please find the following limits (you might find l’Hospital’s rule helpful for some limits)
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10.
Find the arc length of the region bounded by the graph of 
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